Penthouse in Fgura



Fgura, South



€255,000

Total Rooms: 6

Bathrooms: 2

Reference No: 240151078-186



Floor Area (m²) : 95

Bedrooms: 3

Penthouse - For Sale - Fgura

FGURA - New on the market is this new development in Fgura. This penthouse consists of an open plan kitchen/living/dining room, 3 bedrooms, main with en-suite, bathroom, front terrace and back terrace with ample space for a jacuzzi and outdoor furniture. Optional underlying 1 or 2 car garages available starting from €40,000. To be sold in shell form and finished communal parts by mid to end 2024. Contact one of our associates for more info.

Features

Rooms

- Kitchen/Living/Dining : 4.03 x 6.45 m (25.99 m2)
- Single Bedroom : 2.95 x 2.5 m (7.38 m2)
- Bathroom : 3.23 x 1.46 m (4.72 m2)
- Double Bedroom : 2.95 x 3.5 m (10.33 m2)
- Shower Ensuite : 1.5 x 2 m (3 m2)
- Double Bedroom : 3.94 x 2.95 m (11.62 m2)
- Open Space : 1.5 x 8 m (12 m2)
- Open Space : 4.25 x 4.5 m (19.13 m2)

Gallery





Thomas Meachen RE/MAX Edge - Attard

M: 99832214 E: thomas@remax.com.mt T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta